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Year 6

Mathematics
Arithmetic

Multiplying and Dividing by 10, 100 and 1,000 – paper 3

First name

Middle name

Last name

Date of birth Day Month Year

School name
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2296 x 100 = 

972 x 10 = 

93.9 ÷ 10 = 

1 mark

1

1 mark

2

1 mark

3
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1.672 ÷ 100 = 

71.4 ÷ 10 = 

4.116 ÷ 10 = 

1 mark

4

1 mark

5

1 mark

6
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17.85 x 10 = 

8.314 x 10 = 

1.938 x 1000 = 

1 mark

7

1 mark

8

1 mark

9
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463 ÷ 1000 = 

61.4 x 100 = 

64.6 x 10 = 

1 mark

10

1 mark

11

1 mark

12



grammarsaurus.co.uk Page 7 of 11

954.7 ÷ 1000 = 

3519 ÷ 100 = 

3.67 ÷ 1000 = 

1 mark

13

1 mark

14

1 mark

15
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804.1 x 1000 = 

59.9 ÷ 100 = 

8.1 ÷ 100 = 

1 mark

16

1 mark

17

1 mark

18
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72.9 x 1000 = 

75.8 ÷ 1000 = 

1 mark

19

1 mark

20

1 mark

21 375 x 1000 = 
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3.575 x 100 = 

1 mark

23

24

147 ÷ 10 = 

7.9 x 100 = 

1 mark

22

1 mark

Total
marks
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3519 ÷ 100 =  35.19

954.7 ÷ 1000 =  0.9547

3.67 ÷ 1000 =  0.00367

804.1 x 1000 =  804,100

59.9 ÷ 100 =  0.599

8.1 ÷ 100 =  0.081

72.9 x 1000 =  72,900

75.8 ÷ 1000 =  0.0758

375 x 1000 =  375,000

147 ÷ 10 =  14.7

7.9 x 100 =  790

3.575 x 100 =  357.5

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

2296 x 100 =  229,600

972 x 10 =  9,720

93.9 ÷ 10 =  9.39

4.116 ÷ 10 =  0.4116

71.4 ÷ 10 =  7.14

1.672 ÷ 100 =  0.01672

17.85 x 10 =  178.5

8.314 x 10 =  83.14

1.938 x 1000 =  1,938

64.6 x 10 =  646

463 ÷ 1000 =  0.463

61.4 x 100 =  6140
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Answers

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.


